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Test 5 Calculation [[]

Basal: 6 lowest correst
Ceiling: 6 fighest incorrect

Score 1, 0

1___ 4

2___ 2

3___3

4___ 7

5___6

61

7.3

§__ 2

9__ 4

0___ 16

11___8

12___ 71

13___ 15

14__ 3148

15____ 4

16 40

17 ____ 91

18___ 29

19___ 84

20 %

21 3

2__ 8

23 3

24 130

25 6%

26 21

27 8% _
°8____ -6 .
29 .. —42 ‘
30 1% !
31___ 5 -
32 - x=2andy=3
33 x=-3o0rx=4+1 ;
3___ 72

3/ T

36 25

37 3

a

39___ 005 !
S 40 18x® ' ;
41 ____30°

42 _ . Slope = 3
y intercept = 4

43____ 16
44__ 25 '
45 A -

: 21 Humber

e ik

Correct (0-45)

Test 5 Caleulation -

Scoring Table
Encircle row for the Number Correct.

Number
Correct  AE (Est)* - GE (Est)*
Q <5-5 <2
1 5-6 K.3
2 5-9 K.5
3 -0 K.7
4 8-3 1.0
5 6-6 1.2
6 6-9 1.4
7 7-0 1.6
8 7-3 1.9
9 7-6 A
10 7-9 2.4
11 8-1 - 2.6
12 8-4 2.9
13° 8-8 - 3.2
14 9-0 3.5
16 9-4 3.8
16 2-8 4.4
17 10-1 4.5
18 10-5 4.9
19 10-10 5.3
20 11-4 5.7
21 11-9 8.2
22 12-4 6.7
23 12-11 .73
24 i3-7 - 8.0
25 14-4 8.8
26 16-2 9.7
27 1641 10.8
28 17-1 121
28 18-4 12.9
30 19 13.0
>30 »21 >18.0
*AE and GE are estimates of the

precise values provided by the
software scoring program.

Test 6 Math Fluency

Basal: ltem 1
Time Limit: 3 minutes

Scare 1, D

If not using a stopwalch,
record the start and end
fimes in the box below.

Kumber

Correct (0-160)

. Test& Math Fivency
Seoring Table
Encircle row for the Number Correct.

Numbar Numbsr - -
Correct  AE (Est)™ GE (Fst)* Correct  AE {Est)* GE (Est)*
0 <5-8 <K.2 75 11-6 8.1
1 586 K2 76 11-7 8.2
2 57 K3 77 11-8 8.3
3 58 K.3 78 119 . B.4
4 59 K4 79 11-10 6.5
5 510 K.5 80 12-0 6.6
6 5-10 K5 a1 i2-1 6.7
7 511 K.6 a2 12-2 6.8
8 68-0 K7 83 12-3 6.9
9 61 K7 84 i2-5 7.0
10 B6-2 K.8 -85 12-6 74
ib 6-3 K9 a8 12-7 7.2
12 6-4 1.0 87 12-9 7.3
13 B6-5 1.0 a8 12-10 74
14 6-& 141 89 13-0 7.6
15 6-6 1.2 a0 13-% 7.7
16 8-7 1.2 91 13-2 7.8
17 88 1.3 92 13-4 7.9
18 6-g 1.4 93 13-5 8.0
19 6-10 1.4 94 13-7 8.2
20 8-11 1.5 95 13-9 8.3
21 7-0 1.6 9B 13-10 8.4
22 7-1 1.7 97 14-Q 8.5
23 7-1 1.7 fors) 14-1 8.7
24 7-2 1.8 a9 14-3 B.8
25 7-3 1.9 100 14-5 -89
28 7-4 20 il 14-6 9.1
27 7-5 20 102 14-8 9.2
28 7-B 24 103 14-10 9.4
29 7-7 2.2 104 15-0 9.5
30 7-8 23 105 15-2 a7
31 7-9 2.3 108 15-4 9.8
32 7-10 2.4 107 15-6 10.0
33 7-10 2.5 108 15-8 10.2
34 7-11 28 108 15-10 10.4
35 8-0 26 110 16-1 10.5
35 B-1 27 111 16-3 10.7
7 8-2 2.8 112 16-5 109
38 8-3 29 113 16-8 11.1
39 B-4 2.9 114 16-11 11.3
40 8-5 3.0 115 17-1 . 11.8
; 41 8-6 31 116 174 11.8 -
3 42 8-7 3.2 117 177 124
3 43 8-8 3.3 118 17-11 12.3
B 44 8-9 3.3 119 18-2 2.7
3 45 8-10 34 120 18-6 12.9
45 8-11 3.5 121 18-10 12.9
47 9-0 3.8 122 19 12.9
45 9-1 3.7 123 18 13.0 -
.49 9-2 3.7 124 20 3.0
50 9-3 3.8 125 20 i3.2
51 9-4 39 128 21 i3.6
3 52 9-5 4.0 127 22 13.9
53 9-6 41 128 =24 4.2
54 9-7 4.2 129 >24 4.5
55 9-8 4.2 130 %24, 4.8
56 99 4.3 131 >24 151
57 9-10 4.4 132 >24 15.3
58 9-11 4.5 133 >24 15.6
59. 10-0 4.6 134 >24 15.8
80 10-1 4.7 135 >24 16.1
61 10-2 48 138 >24 168.3
62 10-3 49 137 >24 16.8
63 10-4 4.9 138 >24 16.8
64 10-5 50 138 - >24 17.0
65 10-6 51 140 24 17.2
66 10-7 5.2 141 »24 17.4
87 10-8 53 42 >24 17.6
68 10-9 54 143 >24 17.8
69 10-14 55 144 >24 18.0
70 11-0 5.6 >144 >24 >18.0
71 311 5.7
72 11-2 58
73 "11-3 5.9
74 11-4 60

2AE and GE are estimates of the precise values'provided by the software
scoring program when time is exactly 3 minutes.




